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ANSWER KEY 

1. ∠𝐴𝑂𝐵 =  80° 

∠𝐴𝑂𝐵 =
180− 80

2
= 50° 

∠𝐵 = 50 + 15 = 65° 

∠𝐶 = 40° 

∠𝐴 = 180− (65 + 40 = 75° 

2.  

 

a) ∠𝑂𝐶𝐴 = 60° 

b) ∠𝑂𝐴𝐶 = 60° 

3.  
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∠𝑂𝐴𝐶 = 𝑥° 

b) ∠𝑂𝐶𝐴 = 𝑥° 

∠𝐴𝐵𝐶 =
∠𝐴𝑂𝐶

2
 

=
180 − 2𝑥

2
= 90− 𝑥 

∴ ∠𝑂𝐴𝐶 + ∠𝐴𝐵𝐶 = 𝑥° + 90 − 𝑥° 

𝟗𝟎° 

4.  

 

5.  

 

a) 𝑃𝐷 =  𝑥 

𝑃𝐶 =  𝑥 + 9 

b) 𝑃𝐴 × 𝑃𝐵 = 𝑃𝐶 × 𝑃𝐷 

9 × 4 = (𝑥 + 9) × 𝑥 

36 = 𝑥2 + 9𝑥 

𝑥2 + 9𝑥 = 36 
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𝑥2 + 9𝑥 − 36 = 0 

𝑥 = −𝑏 ±  
𝑏2 − 4𝑎𝑐

2𝑎
 

a = 1 

b = 9 

c = -36 

𝑥 = 3 

PD = 3cm, PC = 9+3 = 12 cm 

 

6.  

 


